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Maximum : &0 Scores

General Instructions to Candidates :
@ There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 % hrs.
e You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

® Use the ‘cool-off time’ to get familiar with queﬂhons and to plan your answers.
® Read questions carefully before answering.
¢ All questions are compulsory and only internal choice is allowed. ,
® When you select a question. all the sub-questions must be answered from the same
question itself.
® (Calculations, figures and graphs should be shown in the answer sheet itself.
" ® Malayalam version of the questions is also provided.
® Give equations wherever necessary. |
® Flectronic devices except non-programmable calculators are not allowed in the

Examination Hall.
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/ If the demand curve is a rectangular hyperbola, clastitity 18

(a) Zero

(b) One ~ ;

(c) Less than one - _

(d) Infinity ' ' o - (Score : 1)

2. Define GDP Deflator. During 2013 the nominal value of GDP in India was I 7000/-

 crores. During the same year the GDZ of the country evaluated at price of some base

year was < 6000/- crores. Find the value of GDP deflator of the vyear in percentage
terms. - | _ . (Scores : 4)

B Match the columns ‘B’ and ‘C’ with ‘A"

i I e R N S L LT

_ A | B C ____l
1 (1) Concave to the origin 1 Centrally planned | Monetary flow of income |

~a——

o7 | economy /{/
oA ' -

(2) Organisation of Economic¥ Micro Economics External sector
e N A
(3) Circular flow of income r;ﬁkgeasing “ opportunit »

Qﬁst - RN

1“I~.h

activities

il e, o ) w— ki N e i L AT

h}érket economy

h—

(4) E/Iajor  sectors in . ai

eal flow of income acro Economics

economy , L |
(5) Branches of Eceﬁ;micﬁf vernment 4 Production _posgbilit}f
e I B I o jLurve -
(Scores : J)
4.  Study the following table and answer the questions.
Income ] Crmmi?mp;im 1 Investment B
- - Expenditure - Expenditure
Y ' C - !
- 0o 10 10 |
10 15 10
00 20 B 10
30 _ 25 _ 10
40 30 | 10
50 . ' 35 10
60 . 40 | 10 .
(5) _ Derive the aggregéte demand schedule. = N
(b) Show graphically the components of aggregate demand. . (Scores : 5)
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(a) Zero
(b) One
(¢) Less than one _
(d) Infinity ' - ' (Ve:ad : 1)

N

GDP Deflator agyamoesrna’ m’kacyg_nmgce:. 201 3-0206MEl@3 MIMHIWHS GHOIRIHAIOD)
BB MBROMajmMo  7,000/- 65081 @aiwowie)m). @R aBauOem ©LNOBGIN
OHROTD @RYBLMMBEAIWIgjMo qurle alleivlad ®igeaqisiomemiowd 6,000/- 608l
@),  @REBOMOVHIT @) uBsuomm  GDP Deﬂator-s)crg 1)[=13\e
OAROMISINOOMODITZ BHEMANOAN) . (Ve 3aV : 4)
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A ' B C

(1) Concave to the origin | Centrally planned Monetary flow of income

"" economy ; k
NS I U - -
(2) Organisation of | Micro Economics -~ | External sector

Economic ictixiities ) ‘ | o

(3) Circular tflow of income | Increasing opportunity | Market economy

L - ______l_ﬁ)St _ - - S

(4) Major sectors in an Real flow of income Macro Economics
i -~ .
economy . , ' P ),
. ——— “ et e - e -
I_(5) Branches oi Economics Government . Production possibility
_ - curve

((;ﬁcgﬁ;oéau: : S)

4. @09 950S)OWIBlENM aigld: a1C0la] c210816MBUWBAET QETHOHREI®)H:.

Income Consumption 1 Investment
. Expenditure Expenditure
Y | C ' ]
N 0 10 10
_ 10 | 15 10 :
- 20 20 . 10 "
' 30 | 25 10
40 ! 30 S [
50 35 , ' 10
60 | 40 10
(@)  ODOOW® GalBMqGld: *erR)allSlon)e:. '
{b) e200m G210BMAOMINMG LISHEBUE QIO H6) b, = (VGBS IBAV : 5)
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L}/ ‘Which of the following cost will be zero when production is stopped ?
(a) Average Fixed Cost .
(b) Total Cost
(c¢) Fixed Cost _ _ _
(d) Variable Cost - 7 ' ' (Score : 1)

6. The f@llowing diagram represents TP, MP and AP curves of a firm. After studying the
curves, answer the questions given below. | '

B
l
|
!
.i

o
|
i

(a) When does ‘TP’ becomes maximum ?
(b) At what rate (increasing or decreasing) does ‘TP’ increase when ‘MP’ increases ?

(c) When does ‘MP’ become negative ? . (Scores: 3)

7.  From the list of goods given below, find out the one which cannot be proﬁded
through market mechanism ? '

(a) Private goods

(b) Public goods

(¢) Ment goods

(d) Club goods o ~ (Score : 1)




5. ;gp_"ig:;orama MIGOM MUY ZErO @RYcHaM alelql @g;rmomi’ ?
(a) Average Fixed Cost | (b) Total Cost _ _
{(c) Fixed Cost (d) Variable Cost - (10693 : 1)

. ,é/ ®00% @mMIRleMM  allmo 80} 2eiajosm @emiglea TP, MP, AP agam?
QUBERHS TV} allafien)aN). M MR MV)HHARIW] al0la] ®o6Y ®IMIELD)IM
32103 46BUIN DOMOHDYP)D)) 5. |

(@) agdajovesms ‘TP’ aiemo alezoaiwloleciom)ama’ ?

(b) ‘MP" auwme guweemiod ‘TP’ o ag@  coglenem  2wo)@:c®),
MOP)HCWS HalQIANG) ? |

(©)  apBajogosm ‘MP’” aigmo amnQlandiana ? (G’ﬁi&a&ﬂ@(’rﬁ :3)

‘/{ @0OY  oB®Hosamiclac)m  qvowmasgins  efiquled mlmle &emuog
QI QAUMNWILNHS RIBIRO 30 MLIW]HNIDBI FLIWMo aB®) 7 -

(2) Private goods (b) Public goods ,
(¢)  Merit goods (d) Club goods | (NWead : 1)
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M Abhi wants to consume two goods. The priCes of two goods are ¥ 4 and X 5
- respectively. If Abhi’s incomeis ¥ 20., answer the foﬂ_Owiﬂg questions :
- {a) Wrnte down thc:: equation of the budget line. '
(b) How much of good-1 that Abhi can consume 1f he sp,ends his entire tncome on
g0od-1 ?
(c)_ How much of good-Z that Abht can conSume 1f he Sp,ends his entire income on
good-2 ? - '
(d) What is the slope of the budget line ?
(¢) How does the budget line change 1f the con.sumer’s income increases from < 20
- to X 40 but prices remain unchanged ? -
(t) . Show the change in budget line if the price of good-2 decreases by < 1 but the

price of good-1 and consumer’s income remain unchanged. (Scores : 8)

-

-~ Who is known as the father of modern macro economics 7

(a) Adam Smith
(b)  Alfred Marshall

(c) J.M. KeyneS/Z _ '

(d) 1.B. Say o -  (Score: 1)

' \/l{/ The following diagram shows the equilibrium price of wheat determined by the
supply curve ‘SS’° and market demand curve ‘DD’. With the help of the diagram

answer the questions given below.

(a) Ifthe Govemment INPOSES pri;i:e ceiling on wheat, what happs;hné to the demand
for wheat ? - I.
(b) Define price ceiling.
-~ {¢)  Write down two ad?erseimpacts of price ceiling on the consuimers.  (Scores : 6)
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(d) urG cEIWOS 21710l af) N6 7
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( } Adam Smith (b)  Alfred Marshall
v 1M, Keynes _ _ (@) J.B.Say (AVE®0d : 1)
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afleimes  afl@o  aRQIOS  Gal@INIMY. 2fi@OmIOd  TLanIWETHING
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alezoawl ailel @lomielajood @aj@mmamu%mgmm);m Qe  GBOnH-

ADEIEIRUS af)OaMLJ00 7 B ' - (neddav : 6)
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1 A fruits seller sells 600 kg of grapes at market price of T 40 per kg. When price

increases to T 50 per kg, he is ready to sell 750 kg of grapes. Find out the price

clasticity of supply. (Scores : 1)

/l/ If all the people of the economy increases the proportion of income they save, the

aggregate savings in the economy will not increase. This phenomenon is known as
(a) Paradox of prosperity

(b) Paradox of thrjf;,

(¢) Leontief paradox

(d) Giffen paradox (Score : 1)

13 A firm that maximizes profit under perfect competition will not produce an output

where (a) P > MC and (b) P < MC. If so, what is profit maximizing ou‘tpu{ condition

1n ﬂl@ short run 7 Briefly illustrate with diagram. (Scores : 3)
\y/ Which is not the characteriﬁic: of indifference curve

(a) Indifterence curifas are convex to the orl gm.

(b) Indifference curves are negatively slopped.

(¢} Indifference curves intersect cachother.

(d) A higher inc%ifferﬂnc:é curve represents a higher level of satistaction. {Score : 1)

| '/"'
lj./ The most important role of RBI is credit creation andé control of money supply.

Explain the snstruments which RBI uses for conducting monitary policy. (Scores : 8)
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1. B0) alPHN2|AUSINIOW 630) aleendad 40 o Wlessiad 600 «leen mamlal
aflmaeyan). symlclwies aflar 40 oaiwiod wimio 50 o)aiiceias aidrulgjons
Hajaussoedd 750 elean mamlal aficdeedmd quoulen)e. afmas UHGHOBE

LaIBOM OO 3 afle: N LIZTVDIDHD HEMNEN0DBO) . . (0B3:IBV : 2)

®

B30) avnid aaimNEloel RMEBOBEP0  CRAUDS m@@@g,e 1BV 12008
qomid  annaimogleel H200mo  FLMIoBYe AUGRLIAMNIMILL. B LA I®NBITVHOD)
@01V S} M) '

(a) Paradox of prosperity

(b) Paradox of thrift

(¢) Leontief paradox

(d)  Gitten paradox . - (aVG»2d : 1)

13.  p0ede20%] 96apams MSOMYM ajdep ACMLE HEMICE QAITULTIHR! B0
oflajoam @I @Y  atOWAM oend  qumdeaBgiene 9RInj0BMo
4, MAQYad a9 aEL
(a) P> MC
(b) P <MC

ARERHMOVET  op®  muBAeOHNRINWIEIee)0  (AOALIG0RIVE0H LI I3M

C Rl o

Wmg 10801 §ria]dBMo MSEH OGN aflldmOmHng TVaCIVEADHIS)-

)5 Q1L OODILH B (rSee03av : 5)

14, 2nAOS  OG0S)OTE1H; MWD inﬁiﬁ‘emme curve-a@  TUailGurau® '
TREJOODED D) '
(a) Indifierence curves are convex to the origin.
(b) Indifference curves are negatively stopped.
(c) Indifference curves intersect each other.

(d) A higher indifference curve represents a higher level of satisfaction.  (AVGa03a@ : 1)

15 olavdq]  muslem (alwom WeERs APald  TUialanei)o QIO ald
mooiosenacsm.  olavdq]  Mmiosm  METmOMEITo 203 (e S1R)HSWOE
MBqadlenymeman aileaden) . ) (e300 : 8)
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A6, Which of the tollowing is a transfer payment 7
(a) Rent
(b)  Wages
{c) Interest

(d)' Old age pensif)y o | - o ' (Score : 1)

17. In an economy, Investment in'creas_és by 500 crores. If MPC is 0.5, what is the

increase in total income ? . - . (Scores : 2)

Monop_oiistic competition consists of :
(@) A few firms selling identical products.
(b) A few firms selling differentiated products.
{¢) Large number of firms selling idemiml products.

- (d)  Large number of firms selling differentiated products. _ - (Seore: 1)

Lwﬂ/Suppose the following components of Government budget in India during 2013-14 is

given

st L . e e e Pt e e e - _i
- Components - | ¥in crores

| .

(1) Revenue Rﬁceipts : ] 10,000

(2)  Capital Receints - 6,000 ‘
| (3)  Plan Expenditure 5,000
{4} Non-plan Exp@ndﬁure ; 20,000
(5) Emﬁmst_PaymemS_ o 1 755‘0{)

(a) How much is the Fiscal deficit 7
- (b) Find out the primary deficit. . (Scbres: 4)
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(/\/( -@om@ aceaos;mmm@;mmmmﬂ DIQ@RSAI aB@I6) ?
- (a) Rent ' R '
(b} Wages
(c) Interest

(d) Old age pension ” (0es33 : 1)

17, &) ovmid ajjaundieel Mledtato 500 ¢&08l .fagn_mamﬂ QIBRUIHN) M),
“avimocamoaiceomocimicaiwe (MPC) 0.5 apeemslad  avaud  ayaimunolos

SR mmgmommﬁﬂeﬂgmos@;;m aidabmal o 7 ' (nSe30daV : 2)

HSs L,wt:‘ I~}

18.  ®Om& 2BMECHIT 9WBOAFERD :

(a) $)02] 9LInj0BM WMIYGHRB afdhiGRd: DRlajMaEBU afllsdanyan)
(b)  @)0a] 9eIajoBM WM m’l(‘aéfsm ga‘%f;g:gm'}amga Qi3Sm0
Ch ANEMSHo QET%ZIOBQ_) W}6MI1Q)H U @&O@m& 8 Ein JIMEEBUI m’]mﬁmgaﬂg
(dY  memdo 9LInBM WEMIQ)dhud Alleesm 9eiqlaNERyd mm‘aés)gang |
- (ve9d : 1)

;.

!
/ w0 waeBeaaglaag 2013-i4 TOOMIE S Qicuomioel micwRgloer  aflel
afl0iEsBUWd LOE@ald:20W] HG:05)OMIEEa)aM). P

el ol Sl M ] e _ T . b Bl HELE

i

Components _ < in crores |
1 e - ) ' -1
(1) o)) cxeaomoe | 10,000
| 4 .
2) newo ae@ome - N\ > 6,000
j (3) o) eaelnd — 5,000
- | | N
(4) aLGICO®O ﬁ‘ﬁ.ﬂ:@/ 20,000
(5) aefn  — 7.500
(@)  wmeadl a@OWAN &HMB)allslon)d ?
(b)  (ondld &3l af)(@o6r) 7 ' ' - (MOCHIAMV : 4)
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20.

21.

22.

The point on the supply curve at whiph a firm earns normal profit is called
(a} Normal profit o

(b) Super norméi profit

(c) Break-even point

(d) Shut-down point ' (Score : 1)

Define value added method A farmer producea > quintals of wheat, out of which he
sells 3 quintals to 2 flour mill and 1.5 quintals to consumers at the rate of T 1000/- per
quintal. He retains the balance of 0.5 quintals for self-consumptmn For wheat
cultivation . he spends < 2000/- on account of purchasmg seeds and fertilizers.

Calculate value added by the farmer. - (Scores : 4)

Which of the following describes monopoly ?

(a) Large number of buyers

(b) Large number of sellers

(¢) Only a single buyer

d) Only a single seller with complete control over industry (Score : 1)

%o National Income identities are shown below :

7026

i) Y=C+1+G
(i) Y=C+I[+G+X-M
(a) Pick out the National Income identity for an open economy.

(b) If marginal propensity to ._.consume (C) = 0.5 and marginal propensity to import
(M) = 0.3, prove that the open economy multiplier is smaller than that of the

closed economy. . = - (Scores : 3)




20.

21.

23.

(aIBOM  AUHHOmIB  9eTnjo3m @emilg dlmeneo emsyam @ma@’k@am ag)omg
Gal@leiolweqgs)o ? '

(a) Nonnalpmﬁt
(b)  Super normal profit
(¢) Break-even point

(d) Shut-down point | (e®a3 : 1)

@81CjAO™ MRIL0 afmMoseiass ?

80) - %HBaH:MB HR2Om 5 ca;flngcoﬁ GIMI ge.a%,orﬂoi,%a@;mg 60) ilagella
1000 d)ad MloONGE 3 Aoy m‘!m@ 2500 a0 1.5 cﬁaﬂ(@(ﬁﬁ gﬁm@amamuémgo
Qiladenymm). emises] aimam 0.5 SHIMB@ roiamo gaje@omm'lm m’lm’kmomlm;(m;
BNODMI ol a6, @YU\ DO oﬂm‘!mgo USOMIMo saImMEl @:@audm 2,000 .
O}t 0)SH1WIE3 BREFaOMIDG 3 5lesjdom mels M8 allSlan)m. (e aday ; 4)

D0OY aloW)MMAUDTGE &)o@ M allaflosyomaey agad ‘é
(a) Wordss GLEMIGHUS

(b)  wordss QNG H6)(B

(©) 80} emmont 20mo

(d) &0 afleemoal pefajosmo my9)ai0d mlomomnm (aes03 : 1)

@8} Allwomlenss e3ulw QAIBIROM AROOBHE:®) (BAU1H6) b

() Y=C+I+G
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(i) Y=C+I[+G+X-M
(a) oomm qvmud AUAUOWOS BRIV AUGYBOM aRBHICDH:® aR@IMT ?

(b)  mvImocamoaieEIMIEITcaIMo (C) 0.5-90 avizoa D000 2@ wEITIcaIo (M)
0.3- wgmamaa{%m% @O rumiAd mgmauom);gs 200glal0A@ @Psay aquaud

- AjANOeOS 2635la IWOleMH6003 ) ONUHMAT ONBIV]B9N) 5. (AVCHIGAV : 3)
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/24/. Following information about a firm is given below :

| Units of output | Total cost | - .
& - \3 |
S — - IR |
0 45
| 1 | 75
2 100 _ |
| 3 120
P . ; = — N
From the given information, estimate ~—

- (a) Total Fixed Cost (TFC)
(b) Toftal Var’i.able Cost (TVC)
(c) Average Cost (AC)

(d) Marginal Cost (MC) o _ (Scores : 4)

25. The economic principle of exchange rate determination are diff@rent in different

systems. Write in one or two sentences how the exchange rate is determined under :
(a) Flexible exchange rate system.
(b) Fixed exchange rate system.

(¢) Managed floating exchange rate system. {(Scores : 4)

26. Under Oligopoly the output decision cf any one firm necessarily affect the price and
quantity soid by other firms. Hence the rivals may react to protect the profit. List the

three different ways in which oligopoly firms may behave. | (Scores : 3)

7026 ' 14




24.
L/,.

B0} 9eieosm o eviglacd 9rinjosm aNaIesEBw 21)QIRS alglawlod

305 TWIA1BH) ).
i Units of output ~ Tota] cost
0 R 45
1 75
2 100
3| 120

®aNI5) 88 afaioeBa]os MIIM)o MY a_lbmag(mm HoN2)aflslon) .

(a) earom qunle eaielal (TFC)

(b) 6 DO Ezj;gm’i@@m sm_iej@?l?"(TVC)

(¢)  warwel aaleial (AC)

- (d) PIOT §2IRI0] (MC) . | ' _ B (ﬁﬁ@&@éﬁﬁ : 4)

alrlze  Moed ldsppailammaleoad @@Jo al2l  alyaicuNGElele  alel
olmleglenem.  @oe9  alo)an  aainuoeglad  af@Esemos’  allmiae

- Mleaneud MdaRlenmema’ 86O AEMED QAIROMICE af) $)®)d.

(a) aoloim allrlzemloss ol

- {(b) qurle almlaedless olo)

26.
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(c) mommen ayoloom allmlaociess alel (aYesaday : 4)
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